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1. ~ ~G1 ~ dl cfra1 3ITdT 6 ~ 311tIcR ~ ~al' <Fr 3ITR' 3ffi!cJ:r3ffi" (OMR) 3ITR' q~(1q;1 if ~ ~ I 31m
.;)

'Cfi' dTfUlc; ~ ~ ~o ~ar 6 ~ ~ ~al' 3 3fct; Cflf ~ I milT 'w tllCRlcrll ~ 3tR 31m 'df' ~ ~ 1:J.Tm
'-m' 3th" 'dT' ~ dl ~~ t;f~al' 6 3tR ~ ~al' ~ Wf; CfiT ~ 1:J:ildT'1f ~ ~ ~ 3tR ¥ ~3WIT dl ~

1Fmf~·~~1

This question paper contains of THREE sections and you have to answer all questions in the
OMR answer sheet. Section "A" Mathematics contains 50 questions of 3 marks each,
Section "8" GK and 'C' Language contains 25 questions of 2 marks each respectively.
Section C is Language specific and is to be attempted in the chosen language.

3fct;:250
Max. Marks : 250

2. ~al' ~ - II (~qfrm ) ;J.'f ~~ t;f~al' 6" i t;f~01q:r ~ tit ~ ~ fa<rr ~ I ~ llf.!al' ~ 3ITR' ~

311wr3ffi" (OMR) 3ITR' q:r ;J.'f ~ ~ ~ I Question paper - II ( Intelligence Paper) Contains 25
questions. The question paper will be given after 2 hours. Answers for paper II are also to be
written in the same OMR answersheet. .

3. ~ ~al' CfiT ~ V<'fl ~ 3ITR' ~I ~ mo:r ~ 3ITR' .~ ~ ~ V<'fl 1JTc;rr mi.~ ~ ,Tl<fi ~

~mcJ ~ q;)- q;, ~ anT {1)-3m CfiT 3ITR' ~ P.IaIT ~ There is only one correct answer tor each
question. Darken only one bubble for each question. If you darken more than one bubble, your
answer will be treated as wrong

4 m ~ 3ffi" 3ITR" ~~ (OMR Answer Sheet) ~ ~ cccrm ~ ~I ~ ~ <fiT~
~\(1{ ~.,. Jf crt-~m ~ ~na:r i>lT ~ 3it{ ~ 3,(1'(Qf(i(1chT q;'r 1M ~ ~, ~ ~ ~ ~.;) .;)

·'~I
Evaluation of OMR . nswer sheet will be done on a computer. Be careful and ensure no un-
necessary marks on il"te OMR answer sheet! fold or attempt to deface the OMR answer sheet,
otherwise it will not be evaluated.

5. ~ m ~al' q:r ~ ~ ~ ~ ~ dl ~ <fit, al' <fiT3ITR' q~(1q;1 * I~ .;)

Rough work must be done on the additional sheet only and NOT on OMR answer sheet.

6. ~ 3ITR 'CfiRt m ~ ~ ~ ~ ~ ~ m- I ~ CfiT ~ al'. <R I
Write your answers in Blue/Black ink only. Do not use pencil.

7. ctiCR ~ q;)- ~ Cfi"{, ~ ~al' ~ * ¥T 24 ~ 6 I
There are total 24 pages in the question paper.
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3{m 'CIi" muter
SECTION A - MATHEMATICS

1. ~ ~ ar b~3f. q;)- ~f. c):;" ~ f.~ ~ dJU1T'Cfir h I ~ 3ITR" J-Rl(q" 3'ITR" ~ ~
, ~

~tl
A student multiplied 7236 by 65 instead of multiplying by 56. By how much was his
answer greater than the correct answer?

(a) 87555 (b) 65124 (c) 72360 (d) 65000

2. ~q;t
11131

Simplify: t+{z +3 + '6+ C:~- 3)}

30
(a)-

37

37
(b)-

30

15
(c)-

37

15
(d)-

30

4ern
3. firHr ~ cf;'r tJftfU ~ I

Find the perimeter of the following figure 1ern t
'4========aJ

4ern
(a) 15cm (b) 15cm2 (c) 16cm (d) 25cm2

4. l:[Cfl Cfi1tt CfiT mtr ~ 1ft X ~ 1ft t I ~ l:[Cfl CfJT ~ Ritlcfil :J:NIT3 1ft t ~ ~0;141 t I :Rr~
~ CfiT ~ ~ cfilRiil ~ tR ~ ~ ~ tl
A floor is 5 m long and 4 m wide. A square carpet of side 3 m is laid on the floor. Find
the area of the floor that is not carpeted.

5.

(a) 21m2 (b) 29m2 (c) 11m2 (d) 21cm2

~ ~ rntt ~ ~ f.,V~,U ~ 3lrv4' Mt I

Find out the smallest number which is divisible by 6, 12, 18

(a) 360 (b) 180 (c) 120 (d) 60

6.. firHr q;)ur ~ ~ mm l:[Cfl tlJOIc;fclGt'S ~Cf11ul q;)- ~ffi:rr t I
Which of the fa "owing measures of angles given can be those of a isosceles triangle

(a) 90,45 (b) 60,30 (c)120,40 (d) 90,50

7. l:[Cfl JII4dICflI{ cf;'r ~ ~ ~ ~ ~ M ~ t I 3fcJR' ~ tJftfU~o M t err 3tI'CfiT

~~tl
The length of a rectangle is 5 cm more than its breadth. If the perimeter of the rectangle
is 50cm than what is the area.

(a) 150 ern" (b) 250 cm2 (c) 900 cm2 (d) 800 cm2 .



(a)15 days (b) 9 days . (c)30 days (d) 20 days

3

8. ~~ (>I)dr 1JC11 CflIl1 q;)- ~" ~ ~ tffi ~ tl :mr CflIl1 q;)- ~ 0 (>I)dr ~ f?;afr ~ tffi <R" ~ I~ ~
12 persons can finish a piece of work in 15 days. In how many days will the same work
be completed by 20 persons?

9. m ~~CfiTRRtr.~~t I
The LCM of two prime numbers is
(a) difference/JRR (b) productJdJulaiq1(>1 (c) sum~ (d) none of the above~ ~ ~

~

.10. 1JC11 ~ ~ ~ooo rn;IT ~ ~ 330 ~ ~ .ma t, \100 ~ .ma t 3tR ~ rn;IT q;)- ~~
J:iTC1T- fqor ~ t I~ ~ ~ ~R1 u;r:r ~ ~ ~ .ma t I~
In a School of 1000 students, 330 come by bus, 400 come walking and the remaining
are dropped by parents. What is the percentage of students that do not ride the bus to
school.

(a) 67% (b) 27% (c) 50% (d) 33%

11. 1JC11 tr mrar 3T ~ mrar ~ (iqi" cfi'r f.H, ~ cfi'r ¢ q;)- H ~ ~rtit cfi'r 1JC11 wna:r d'TR1 ~ .
tffi ~ t,~ mrar ~ tR" 1JC11 tier ~ t ~ ~ 3mfr t I ~ trtT m::rr q;)- cntat ~~ ~
:ffi ~ ~ ~ t (mrar 3T ~ mrar ~ (iqi" 3tR ~ ~) I

A train from Station A to Station B covers a distance of 616km at a uniform speed of
112km/hr. It Halts at Station B for 1 hour before starting back. How much time will it
take to complete the journey and reach back to Station A (i.e. from A to B and back)

(a)11 hours (b) 12 hours 45 minutes (c)12 hours (d) 5 hours 30 minutes

(a) ~ 4000 (b) ~ 3392 (c) ~ 3600 (d) ~ 4296

A table was sold at 16% loss for ~ 3360.Find the cost price of the table

13. 1JC11 ~ ~ ~b ~ t,~ ~ ~ m w 3tR ~ ~ ~ g)" ~ ~ t I qt ~ ~ 1m!~ ~ ~
~ ~ cfi'r ~ ~ WR" ~ W ~ 1m! 1JC11 3tR m ~ ~ g)" ~ ~ ~ 3ft" 1JC11

~~I
There are 17 rooms in a school, every room has two fans and four LED bulbs. How
many switches are required for the school if every fan requires a switch and one switch
is required for every two bulbs? •

(a) 34 (b) 68 (c) 102 (d) 17 .

14. m~ CfiTdJUlaiq1(>1 ~~.~~\It 13G1dt ~ 1JC11 WR" \I.f.~ t m ~ ~ch'lf81il I

The product of two decimal numbers is 12.194.lf one of them is 4.69 what the other
number is?

(a) 7.6 (b) 2.6 (c) 9.8 (d) 4.8
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15. ~ a V<fi ~ ~ £'00 it ~ .3tR ~ ~oo ~ ""HMti tR ~ I ~ 3lf CflT ~~ tooo

it ~ h, <=IT ~:

Rahul purchases a chair for ~ 600 and uses ~ 200 for repairs. If he sells it for ~ 1000
then he has:

(a) no profit no losssr cm:r if ~ (b) 25% loss~'
(c) 25% profi~ (d) cannot be calculatedmurarr~ cfi'r ~ ~

16. ~ 30 ~ it tilqJiICrl t" ~ fmcrr ~ I ~ tilqJiICrl cfi'r fJJ:uae ~ mft"~ ~ ~ <=IT

~ to ~ it tilqJiICrl ~ ~ Pltm I
The temperature dropped 15 degree celsius in the last 30 days. If the rate of
temperature drop remains the same, how many degrees will the temperature drop in the
next ten days?

(a) 10 degrees (b).5 degrees (c) 20 degrees (d) 15degrees

17. 3lm ~ ~ c)q;fr it 3lm ~ cJ cJ ~ ~ <=IT V<fi ~ fmrr, ~ ~ ~ ~ f%rr <=IT

cJ~, ~ ~ ~ ~. f7r.;:rr<=IT ~ ~, ~ 'Yiir 'Yiir ~ f%rr <=IT ~ ~, ~

3: 3: ~ f%rr <=IT 'Yiir ~ I ~ ~ mo mo ~ f7r.;:rr<=IT Cflu: ~ ~ GRITI 3lf~ ~
3lm cfi'r c)q;fr it qw::r m:r qw::r ~ 3lm ~ I
From a basket of mangoes when counted in twos there was one extra, counted in
threes there were two extra, counted in fours there were three extra, counted in fives.
there were four extra, counted in sixes there were five extra. But counted in sevens
there were no extra. At least how many mangoes were there in the basket?

(a)119 (b) 110 (c)111 (d) 126

18. ~ cJ 3iCflT cfi'r ~ ~ ~b ~ ~ ~ ~ <=IT 3lfcl; 3iCflT cfi'r ~ 3<'Jtt ~ ~ ~, .-mo
~f.;)it I

Which of the following two digit number when added to 27 gets reversed?

(a) 27 (b) 24 (c) 47 (d) 70

19. ~ cfi'r ~ ~ CfiT3r.fYTO b:" ~ I 3flR' err ~ ~ ~ooo ~ ~<=IT ~t11(>j1011 ~~ .

~~I
The ratio of income to expenditure of Radha is 7:5. If she saves Of 2000 a month, what
is her annual income?

(a) ~ 144000 (b) ~ 60000 (c) ~ 95000 (d) ~ 84000
J

20. V<fi 3i14tiIChI{ 3lJCflR c);- ~ cfi'r ~ ~ CfiT3r.fYTO 3:" ~ I ~ ~ ~ 1t ~ 3~oo q;r~
~ snar ~ ~ ~ ~ J:ft c);- ~ ~ 3lf ~ CflT mChff!ti ~ tR, ~ t 0 ~ em J:ft cfi'r ~ ~,
~- ri .31'T"QdJT I

The ratio of the length to breadth of a rectangular lawn is 3:5. It costs ~ 3200 to fence it
at the rate of ~ 2 a meter. What would be the cost of developing the lawn at the rate of
~ 1° per square meter?

(a) ~ 18,00,000 (b) ~ 15,00,000 (c) ~ 19,00,000 (d) ~ 21,00,000
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21 . A, B 3-tR c "QCf1'{Cfi61 CfiT3fl"G1T 11"~:~:~ cf; 3fo11ffi1 11"~ ~ I WR" B q;r ~ ~ ~~~~ ~~
err ~ ~ ~ ch)G1il I .

A, Band C divide an amount amongst themselves in the ratio of 4 : 7 : 9 respectively. If
B's share in the amount is '( 2989 what is the total amount.

. (a) 'f 9820 (b) 'f 8540 (c) 'f 2720 (d) 'f 8640

22. "QCf1Cfiffi cf; ~o m <fiT~ 31l<T U crtl ~, 0f6f "QCf1.m.~ CfiT'Hfhiffia fcfim "3ffi1T 6" err~ .

~ 31l<T ~~ crcr ~ ~ 6" I .m.~ <fiT.3fl<:f ~ 6" I~ . .;)

The average age of a class of 40 students is 18 years. When the teachers age is also
included to calculate the average age becomes 19 years. What is the teacher's age?

(a) 59 years (c) 49 years (d) 39 years(b) 69 years

23. What is the greatest number which when divides 3026 and 5053 leaves remainders 11
and 13 respectively?
(a) 15 (b) ~30 . (c) 45 (d) 60
~ ~ ~ ~ ~ ii;t;:r ~ ~ ~ 3026 C1m 5053 CfiT3ITJT ~ tR snmr: 11 C1m 13 ~NGfiT ?

(a) 15 (b) .30 (c)· 45 (d) 60

24. Ravi purchased a chair at Rs 500 and sold it at Rs 550.What was his gain or loss
percent?
(a) 10% (b) 20% (c) 30% (d) 40%
~ 500 ~ <fiT~ ~ 3-tR ~ 550 ~ tR ~I:ruq:;r~ <IT~ ~f(1" Cfm tIT?

. ~
(a) 10% (b) 20% (c) 30% (d) 40%

25. A certain distance is being covered in 28 hours by walking with a speed of 5km/h. If the
speed is increased by 2 kmlh then in how much time the same distance will be
covered? .

(a) 30 hours (b) 15 hours (c) 20 hours (d) 25 hours
. 5 ~.~tkr<fiTdTfc1~~tR~~CfiT28 tit11"~~~~~1 ~dTft12~. ~

ticrGTq;r~~ot~~~~11"~~~?
(a) 30 tit (b) 15 tit (c) 20 tit (d) 25 tit

26. A piece of wire 7/8 meter long broke into two pieces. One piece was 1/4 meter long.

How long is the other piece?

(a) 4/8m (b) 5/8m (c) 6/8m (d) 7/8m
aR <fiT"QCf1-mt't7/8 ~ ~ cJ mtr 11"~ ~I "QCf1-mt't1/4 ~ ~ ~I~ mtr·~ ~ ~
(a) 4/8 ~ (b) 5/8 ~ (c) 6/8 ~ (d) 7/8 ~

27. What is the missing number in the sequence 2, 5, 10, 14, 18, 23, 26, 32 ... ?
(a) 33 (b) 34 (c) 36 (d) 37
M 2,5,10,14,18,23,26,32, ...11"~ qc; Cfm ~ ?~
(a) 33 (b) 34 (c) 36 . (d) 37

. I
I

I
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28. 30 men can do a piece of work in 16 days. In how many days 8 men can do the same
work?

(a) 30 days (b) 40 days (c) 50 days (d) 60 days

30 ~fctR:ftCfiTJ1q;)-16 ~1l'8IHIC(1 ~~I 8 ~~~1l{iIHIC(1 CR" ~~?

(a) 30~ (b) 40~ (c) SO~ (d) 60~

29. Ram, Shyam and Mohan runs at speed of 75,50 and 30m/minute respectively. After

how much time will they meet together for the first time running with the same speed?

(a) 5hours (b) 2 hours (c) 3hours (d) 5/2hours

~, ~<rr1T,~~r: 7S, so lTcf 30 ~~fRa:Jc~-=t:Il(>f~~~1 ~~~6fR~
.;)~ ar ~ 3lfCrn" 1l ~ ?

(a) S tit (b) 2 tit . (c) 3 tit (d) S/2 tit

30. Represent 26kg 5 gram using concept of decimals.
(a) 26.05kg (b) 26.005kg (c) 26.5kg (d) 26.0005kg

~~J"IH(>fCf~ .31cfURUTr CfiT3 q41(j I Cfl{ 26 ~ 5 dJTIH"CfiTSl8fa"!Rt=cr Cfit I

(a) 26.0Sfct;(>I)a:1I1H(b) 26.00SPch(>l)CI;J11H(c) 26.Sfct;(>I~CI;J11H(d) 26.000S fct;(>I~CI;J11H

31. At what rate, a sum of Rs 6000 will amounts to Rs 7800 in 5 years?
(a) .3% (b) 4% (c) 5% (d) 6%)

~ ~ tR, 6000 m ~ufu 5 mc;r 117800 m Wft"?

(a) 3% (b) 4% (c) 5% (d) 6%

32. What will be the depth of a cubical pond whose volume is 729m3?

(a) 9m (b) 6m (c) 8m (d) 5m
~tlCrlIChI{ ~~T<f~~~Wft"Fv1'8ChI.m<:R1a1729 U01~~?

(a) 9~ (b) 6~ (c) 8~ (d) S~

33. Evaluate
3x7 + 4-6 7 3-7 + 45 7 5x4 + 49
(a) 101 (b) 103 (c) 99
IH("'4 iChCrlCfit
"

(d) 35

3x7+ 4-673-7 + 457 5x4 + 49
(a) .101 (b) 103 (c) 99 (d) 35

34. In what time a train whose length is 100m moving with a speed of 60km/h crosses a
platform whose length is 150m?

(a) 15s (b) 14s (c) 18s (d) 20s
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60~. ~UC:PTF-I·~~ttr~f8Hicfi'l ~ 100 ~6"~ 150 ~~ cJlclhl<A q:;)- ~

~ ~ tIT{ CR"~?

(a] f5Wtus (oj -r4~ (cJ t8~ (elJ 20~

35. Ashu takes 12 days to complete the work. Pranav takes 10 days to complete the same

work. Ashu, Pranav and Ramu take 5 days to complete the same work. How many days

will Ramu take to complete the same work?

(a) 70 days (b) 90 days (c) 60 days (d) 50 days

.3mi ~ CfiTJ1q:;)- 12 ~ ~ CR"~ 6"1>JUTCf31ft CfiTJ1q:;)- 10 ~ ~ CR"~ 6"IJrnL >JUTCflJCf WL
<fr;IT~ <>ICh{ :m CfiTJ1q:;)- 5 ~ ~ tRT Cfl{~ 6 ill ~ :m CfiTd1q:;)- ~ ~ ~ cntm?

" "
(a) 70 ~ (b) 90 ~ (c) 60 ~ (d) . 50 ~

36. The LCM of two numbers is 28 times of their HCF.The sum of their LCM and HCF is 1740.1f one
number \S 2.40 then what is the other number?

(a) 420 (b) 460 (c) 500 (d) 380

cJ mrm q;r "(>!".R~ 11.R q;r 28 "JIalT6"1~ "(>!".R3fi"{ 11.R q;r <TIdT1740 6"3fi"{ ~ ~ "QCf1
.:l

mr 240 6"ill ~ mr -mc:r CRT?

(a) 420 . (b) 460 (c) 500 (d) 380

37. Four clocks rings at the time interval of 6s,·8s, 12s and 18s respectively. If they ring

together at 12 am then how many times will they ring together within the time span of 6

minutes?

(a) 6 times (b) 4 times (c) 7 times (d) 5 times
~~6, 8,12 3fi"{ 18 ~cfi ~q{"~~I<:rfa"a-~~"QCJi"~~l1AA~~ill 6
f11a:rc::-cfi ~ ~ ~ iiJR "QCJi"wr ~?

(a) 6iiJR (b) 4iiJR (c) 7iiJR (d) 5iiJR

38. What is the least multiple of 23 which when divided by 18, 21 and 24 leaves remainders

7, 10 and 13 respectively?

(a) 1240 (b) 3013 (c) 2364 (d) 7628

23 CfiTW ~ u;)c:r"J]"OT;Jf ~ 18, 21 3fi"{ 24 ~ 31m ~ q{" SfimT: 7, 10 3fi"{ 13 ~N~ 6"~ 6?.:l

(a) 1240 (b) 3013 (c) 2364 (d) 7628

39. A milkman has two cans of milk containing 75 litres and 451itres of milk respectively.

What will be the measure of largest vessel that can measure the milk of the two cans

exactly?

(a) 12 litres (b) 18 litres (c) 15 litres (d) 10 litres
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lJCfl~~~lJCflrn* 75 ~ct"m~rn* 45 ~~~I ~~~~d1fqCRIT~~

M ifcI:;<:IT q:;r qu-qu r.n d1fq ~?" " ,,~
(a) 12~ (b) 18~ (c) 15~ (d) 10~

40. A table was purchased at Rs 1000 and was sold at Rs 800.What was gain or loss% in

this transaction?

(a) 5% (b)10% (c) 20% (d) 30%
lJCfl~ 1000 M tR ~ dflIT 3tR800 M tR ~ dflIT ml~ ~ * Nm <IT~/o CRITm?

(a) 5% (b)10% (c) 20% (d)30%

41. The average weight of 6 boys gets increased by 5kg if a boy with weight 20kg is

replaced by a new boy. What is the weight of new boy?

(a) 41 kg (b) 50 kg (c) 65 kg (d) 49 kg
6 ~ * ~ lJCfl20 ~ dJTJ1 AA ~ ~ cR faiCflI(>lCfl{~ ~ tR 1:!Cfi anT ~ cR mal ~
~ ~ AA 5 ~ ~ dflIT I anT ~ q:;r AA CRIT~?

(a) 41 Fch(>l)aJIJ"i (b) 50 fcl;(>l)aJIJ"i (c) 65 fcl;(>l~dJIJ"i (d) 49 fcl;(>jhJICH

42. A man covers a distance of 40km.He covers first 10km at 10km/h, second 10 km at
20km/h, third 10km at 30km/h 'and last 10km at 40km/h. What is the average speed of
man?

(a) 18.2 km/h (b) 19.2 km/h (c) 19.0 km/h (d) 16.2 km/h
lJCfl~.w:raft 40~. ~m:rr*~ 10 fcl;1:fi. 10~. SlklciC:1~ma~o<rCR(IT~I~ 10
fcl;d:ft. 20 ~ 1Afci tier ~ ma~, ~ 10 fcl;d:ft. 30 ~. Slf8tic I ~ ma ~ 3tR~ 10 fcl;d:ft.

40 fcl;d:ft. Slf8tic I ~ ma ~ o<r CR(IT ~I~ ~ ~ ma CRIT~?

(a) 18.2~.SlklciC:1 b) 19.2~.Slkhicl (c) 19.0~.Slf8ticl (d) 16.2~. t;lklciC:1

43 If area of rectangular garden of 5m breadth is 300 sq. m, then what will be the length of
garden?
(a) 60 m (b) 70 m (c) 80 m (d) 90 m
51fic:{~' 31I<Ol(=lICflI{ 3<;.<Oll<Ti q:;r ~ 300 cm~~, en- ~cfi'i-~ CRIT~?

(a) 601fic:{ (b) 701fic:{ '(c) 80 ~ (d) 90 ~

If the square of a number is adaed to the square of 28 the result is 1808 'Vhat is the
number?
(a) 66 (b) 50 (c) 32 (d) 16 '

TcP ~ ~ qfr * 28 q:;r qfr ~ 'IT 1808 3fT(=IT fi~ ~ CRIT ~?

(a) 66 (b) 50 (c) 32 (d) 16

Cost of a dozen pens is ~ 180 and cost of 8 ball pens is '{ 56. TI,8 ratio of e cost of a
pen to the cost of a ball pen is?

t[Cf1 ~ ~ q:;r ~ '{ Uo ~ JtR c ~ ~ ~ ~ '{ ~f, ~I Yd. ~ ~ ~1T cill(>lqCrl~

"J.TR:r ~ ~ ~ ch'IGl il I
" .j

(a) 15:7 (b) 180:56 (c) 1 :1 (d) 8:15



9

46. "(!Cf; ~ ~ ~~'J km ~ ~ ~o~ ~ ~ ~ ~. ~f.~o km ~ ~ Cf<r ~.~ ~ ~

~~I
A truck requires 108 litres of diesel for covering a distance of 594 km. How much diesel
will be required by the truck to cover a distance of 1650 km?

(a) 3000 litres (b) 108 litres (c),300 litres (d) 165 litres

Find the simple interest on 'f 5000 at the rate of 7!%for a period of 3 years
2

(a) 'f 5000 (b) 'f 6125 (c) 'f 2000 (d) 'f 1125

48. ~ ~3Wf ct q:;)ur ~:~:~ ct ~ ~ ~ ~ CfiT ma:r ~ cfi1R1ill~ ~
The angles of a triangle are in the ratio of 1:2:3.Find the values of the angles

(a) 30,60,90 . (b) 15,45,120 (c) 60,60,60 (d) 45,45,90

49. "(!Cf; ~ ~ ~ ~ ~f. ~ ~ I WR ~ CfiT $r 'J~ ~ m ~ ~ I
One number exceeds another number by 36.The sum of numbers is 48 then the
numbers are

·50.

(a) 40, 08 (b) 36, 12 (c) 42, 06 (d) 32,16

fcRr ~ tBT ~ ~ ~ ~ ~ CfiT ctiTar tR ~ ~ ~ ~ ~ ~ I
~ " ~

At which one of the following times is the angle between the hands of a clock exactly
one straight angle?

(a)12 AM (b) 12 PM (c)9.15AM (d)6AM
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3TfcJT ~ - 'H IAI cr:Q <it IITI
SECTION B - GENERAL KNOWLEDGE

51. tm1 aR 't:lSfi' N'lq')fi')) q{f"CflI{ fclJ1(""1131Tcf;'r fa:lki~RSl(""l ~ Jt ~ ~ CflI{fJI(>i~ cl;~ ~ ~
~ 4')q');ff) ~ fl chH If;t (""I fcti<:rr crn:rr ~

Out of the following list of Param Vir Chakra(PVC) Awardees who was awarded with
PVC during Kargil War?

(a) &l~c;Ac ~ ~ cilaf0ft (""I1{lq{ Lt Col Ardeshir Burzorji Tarapore~ ~
(b) 2 I &l~c;Ac 3-RiUT;@(""I{ql(>!2/Lt Arun Khetarpal

(c) ~ ~ ~ Capt Vikram Batra

(d) ~ flhiliil~ ~mTMaj Somnath Sharma

52.

JIqIiiIII I ~?
Which state among the following has adopted Sanskrit as its one of the official
languages?
(a) f%CRliI(>i~~r Himachal Pradesh

(c) ~ Rajasthan

(b) 3,(""I{I;&SUttrakhand

(d) 3ITR' ~~r Uttar Pradesh

53 . 3iT{(1 cl; q JiCRIIii 3q{ IISS;:qRI Cfl'ta:r t?
Who is the current Vice-President of India.?

(a) JI;fi ~ mtT Shri Narendra Modi (b) JI;fi ~ ~ Shri Venkaiah Naidu

(c) JI;fi 3-RiUT~ Shri Arun Jaitley (d) JI;fi {l11 ~ Ch1fciGShri Ram Nath Kovind

54. ~ 3fR ~ 61')CRIf),lIlJt ~16f:;rkll ~ CIT(>lf ~ filf'Ch,flcfl'lli filf'Ch,,~iCflI
A medical practitioner specializing in children and their diseases
(a) ~3i'lt>M:f)'fc; Geologist (b) ~~31a1 Paediatrician

(c) Cfllrnm(>iI~R Cardiologist (d) crl!.{1(>!I~R Neurologist

55. Rt=rnT c)l 'QCfi WW CflT CRIT ~ ~ t?
A group of stars is called a
(a) mt ~ Solar system
(c) ~ Planets

(b) Constellations a:r~~JOiS(>l

(d) ~Comets

56. oR:r M tR Cfl'ta:r ~ -mr JlICR<"11{tR .~~ ~ cl; ~ Jt ~ ~ ~
~

Which gas when solidified is commonly known as Dry ice?

(a) ~ 'CHt=ITJlICffll$SCarbon monoxide (b) 1ii1$S;:flJlICffll$sNitrous oxide

(c) ~ ST$'JlICffll$S Carbon Dioxide (d) 61$~1011iiIh1Cffll$sHydrogen peroxide
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57. ~ mrr ~ ~ CflT ~ q;1~q;I('l~ .~ ~ ~

The members of the Rajya Sabha can have a maximum tenure of how long? .
(a) qjT.{ m<>r Five years (b) ~ m<>r Six years
(c) mer m<>r Seven years (d)?J m<>r Two years

58. tft d~4lciC\ ~ ~ *~ S"* p.
P Gopichand is associated with which Sport?
(a) ~srnC:iI1 Badminton (b) ~ Cricket
(c) ~C:~I('lFootball (d) ~ Hockey

59. filhrlffiffi1(1 6t. * <il'tar ~ ~ .m~I$cl ~ ~ ~
Which of the following company does not sell mobiles?
(a) ~ Apple (b) 61~QflQiI1Q('lBSNL (c) vqtftHP (d) mat Sony

60. ~ 3-i'R qra:ft- "CR ~ ~ * ~alJ1 Vc=fi' ~ em CRIT ~ ~ t?
A vehicle capable of travelling over land and water is called
(a) ~~cHStillfcHovercraft (b) {~cHStillfGRovercraft

(c) CH1cHStillfcMowercraft (d) 'CfiRCar

61 . 3lffi1 {l '{Cfll'{ ~ 3R1fta=r Cfll<aStiCH~ ~ ~ ~ m=m Ch1aHft t?
The space programme of Government of India is looked after
(a) 3ii$QfllSllt'J ISBT (b) ~3-TR3iT NTRO

(c) ~ NABARD (d) ~ ISRO

62. 3i i{JI ~ irll8crll Cf1T ~r CfTCRT 6"
The Motto of the Indian Navy is
(a) ~ {lcifniCH ~alT Sarvatra Sarv6ttama Suraksha.:>

(b) ~T a:IT CRlUT: Sham No Varuna: I

(c) cfm:rr JtR ~ Valour and Wisdom

(d) iT1"31: ~T a'!C(iJ{ Nabhan Sprsau DTptam

63. Which is the largest gland in human body?
(a) Salivary gland (b) lungs (c) liver (d) stomach

marcr~rtR*~ ~ CJffit Cf11a:r-~6"?
(a) (>ii{aj\1l' (b) ~ (c) ~ (d) Gc:

64. Who has written 'Sare Jahan Se Achchha'?
(a) Rabindra Nath Tagore (b) Bankim Chandra Chatterjee
(c) Muhammad Iqbal (d) Subash Chandra Bose
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'm{ ~ ~ .3fm;f -a1kr ~ ftemrr ~
(a) (cfi?\G1I~V1R (b) 6ifChJ1ii?\~ (c) "j~<hHe;$CflGlI(4 (d) ~ ~ tqffi

65. Which is the deepest ocean?
(a) Indian Ocean (b) ArcticOcean (c) Antarctic Ocean (d) Pacific Ocean

~ ~ JOi~RIIJI{ Cfi'tar-m~?

(a) f6e;" JOi~I{"iIJI{(b) 3i141R:CflJOi~mIJI{(c) 3iC::I41R:CflJOi~I{"iIJI{(c) ~ffi1 <H~mIJI{

66. Who fixes the salaries and the allowances of the Speaker of Lok Sabha?
(a) Council of Ministers (b) President (c) Parliament (d) Judge of Supreme Court

fcilthrlffiffi<"1 ~ ~ Cfi'tar~ m:rr e);-:P:f)Cfl{e);-ctrar 3tR ~ q:;)- -8rq;-Cfi«IT~?

(a) JOi84i ~ q~tsJe; (b) (I~?qkl (c) ~ (d) ~q;)te);- rrllllll~r

67. Which article of constitution provides Indian citizen 'Right To Equality'?
(a) Article 12 (b) Article 13 (c) Article 17 (d) Article 14

~ CflTCfi'tar-m3iG1~Be;3"i1{~~1lG1IJI~Cflq:;)- '{"iJOi1G1<"1I CflT~ ~ CR"(iT~?
.;)

(a)3iG1~Be; 12 (b)3iG1~Be; 13 (c)3iG1~Be; 17 (d)3iG1~Be; 14.;) .;)..;) .;)

68. 1024 Kilobytes is equal to?
(a) 8 Bits (b) 1 Megabyte (MB) (c) 1 Gigabyte (GB)

1024~~~~?

(a) 8~ (b) 1cRJIIGlI$C::(~)

(d) 1 Byte

(d) 1~

69. Hirakund dam is built on the river?
(a) Cauvery (a) Mahanadi (a) Krishna (a) Sutlej

~ cfls mu ~ a:r<ft"Cf{ ~ dTm~?
.;)

(a) ~ (b) JOi~IG1~ (c) Cf)lrolTc, (d) {"i(i(4"l.;)

70. Deficiency of Iodine causes?
(a) Goitre (b) Malaria (c) Cataract (d) Scurvy
3i Ill~ffiG1~ ~ ~ Cfi'tar-mWr ~ ~?

(a) Uur (b) JOi&l~lll (c) <H)klllIRe; (d) ~

71. Who is known as 'Iron man' of India?
(a) Jawaharlal Nehru (b) Mahatma Gandhi .
(c) Sardar Patel (d) Subhas Chandra Bose

31ffi1 c);-' (>Il~q{)tsJ'e);- ~ ~ Cfi'tar~ aT(iT~?
o

(a)"lql~{(4I(4 ~ (b)JOi~Ic-JOiIdlitfi'
(c)~~ (d)~~tqffi

, '



13

72. Which among of the following is not an Indian Sport?
(a) Kabbadi . (b) Kho-Kho (c) Hockey

~~~m3iF{c114 ~~~?

(a) Cf161~g) (b) m-m . (c) ~ (d) ~

~ ~ 3ffiTo* fct:;cr dN ~ q;r 3lt-<nro:r m- ~,~ srrar ~I
Those who study things that were made and used in the past these people are
ca\led _
(a)~qfcl'iiIa1"l Biologist

(c) 3ifcl'iiIa1"lGeologist

(d) Rugby

73.

(b) q{I(1c=qfcl~1Archaeologists
:"

(d) filf41,f!Cfl Doctor

74. 31RCT ~ ~ t:wf ~ ~ ~ ~ CfiT ~ CRIT t?
:" :"

What is the ratio of width to the length of National Flag of India?
(a) 4:5 (b) 2:3 (c) 1:1 (d) 5:6

75. crrm~ ~ ~ t?
Where is Wagah-Border located?
(a) c>iiJlql(>4l, ~ Longewala, Rajasthan
(c) ~ ~ ~,dJ\:iHkl Rann of Kutch, Gujarat

(b)~, <HfU1~{Moreh, Manipur
(d) 31JFHH, ~ Amritsar, Punjab

SECTION C - LANGUAGE

(Only for those attempting English Language)

Choose the most appropriate option given against each question.
76. Which word means nearly the same as "scream"?

(a) find (b) stop (c)sell (d)shout

77. Which word means nearly the same as "happy"?
(a) conditions (b) disgusted (c)content (d)ambitious

Choose the appropriate options to complete the sentences
78. The men are working. Their ---- are at home.

(a) wife (b)husbands (c)husband (d)wives
79. Rahul works less ---- than Mohan.

(a)carefully . (b) more careful (c)careful (d)careful as
80. It ---- all day long yesterday.

(a)was rained (b)raining (c)rained (d)has rained
Rearrange the following words/groups of words to make meaningful sentences. Choose
the correct sequence given in the options.
81. quite happy I i wasl the first prize/ to receive.

ABC 0
(a) BADC (b) ABCD (c) DCBA (d) BACD

82. protect! we must / natural resources lour.
ABC 0

(a) ABCD (b) BADC (c) ACDB (d) DCAB·
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Choose the appropriate option to fill in the blanks:
83. One who leads an austere life

(a) Ruler (b) Auditor (c) Ascetic
84. A person who presents a radio/television programme.

(a) Director (b) Actress (c) Actor
85. Pick the gender of 'Lad'

(d) Carpenter

(d) Anchor

(a) Lass (b) Queen (c)Woman (d)Dame

86. Choose the gender of 'Fox'

(a) Filly (b) Goose (c) Witch (d) Vixen

87. _____ always stood third in her class (supply the correct pronoun)

(a) You (b) They (c) He (d) She

88. All the candidates should bring own pen (supply the correct pronoun)

(a) Everyone (b) They (c) Nobody' (d) Their

89. Experience is the teacher (supply the correct adjective)

(a) Better (b) Good (c) Best (d) Great

90. a beautiful scene it is ! (pick up the correct adverb)

(a) What (b) How (c) Always (d) Never

91. Did you apply this post? (Supply the correct preposition)

(a) To (b) At (c) For (d) Of

92. You should take care your health (supply the correct preposition)

(a) Of (b) In (c) At (d) To

93. He is rich he is not happy (supply the correct conjunction)

(a) Yet

94. Work hard -'--_ you will fail (supply the correct conjunction)

(b) Though (c) Because (d) But

(a) Or

95. The child for two hours (select the correct form of verb)

(b) Still (c) Because (d) Either

(a) Has been sleeping
(c) Has slept

(b) Have been sleeping
(d) Will sleep
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Read the following passage and answer the questions (Question 96 to 100).

From far out in space, Earth looks like a blue ball. Since water covers three-fourths of
the Earth's surface, blue is the colour we see most. The continents look brown, like small
islands floating in the huge, blue sea. White clouds wrap around the Earth like a light blanket.
The Earth is shaped like a sphere, or a ball. It is 25,000 miles around! It would take more than
a year to walk around the whole planet. A spaceship can fly around the widest part of the
sphere in only 90 minutes.

Even though spaceships have travelled to the Moon, people cannot visit the Moon
without special suits. The Moon has no air or water. Plants and animals can't live there either.
Astronauts first landed on the Moon in 1969. After that, there were six more trips to the Moon.
They brought back Moon rocks, which scientists are still studying. There are holes, or craters,
all over the Moon's surface. Scientists believe that meteorites smashed into the Moon millions
of years ago and formed the craters.

The Sun is the closest star to Earth. A star is a hot ball of burning gas. The Sun looks
very big because it is so close. But the Surt is just a medium-sized star. Billions of far-away
stars are much bigger than our Sun. The burning gases from the Sun are so hot that they
warm the Earth from 93 million miles away! Even though the Sun is always glowing, the night
here on Earth is dark. That's because the Earth rotates, or turns around, every 24 hours.
During -the day, the Earth faces the Sun. Then we see light. During the night, the Earth turns
away from the Sun. Then it faces the darkness of space. Each day we learn more about the
Earth, the Moon, and the Sun

96. Why is blue the colour we see most when looking at Earth from outer space?
(a) Because most of the Earth is covered in land.
(b) Because the Sun's rays make the Earth look blue.
(c) Because most of the Earth is covered in water.
(d) Because clouds wrap around the Earth.

97. What does 'formed' mean?
(a) hit
(b) made.
(c) broke
(d) stopped

98. What causes daylight on Earth?
(a) Thefull Moon causes daylight
(b) Daylight is caused by the Earth facing away from the Sun.
(c) The heat of the Sun's rays causes daylight.
(d) Daylight is caused by the Earth facing toward the Sun.

99. Which of the following sentences BEST describes the Sun?
(a) The Sun looks small because it is so far from Earth
(b) The Sun is a ball of burning gases that gives the Earth heat and light.
(c) The Sun is a small star.
(d) The Sun is not as hot as it looks.

100. Why did the astronauts bring rocks back from the Moon?
(a) Because they didn't know if they would return to the Moon ever again.
(b) Because they wanted to prove that they went to the Moon.
(c) Because they wanted to remember how the Moon looked.
(d) Because they wanted to study them and learn more about the Moon.
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~ ~if cl; Mm ~ 1JV ~q;(I"q1 # ~ 3fl«r ~q;(I"q q;f,:)

76. fa1H:r* ~cf;t;;"H"i1 ~~ '~' ~~ q;r ~414cll~1 o:rtr ~ I
. (a) fchq (b) ~ (c) ~ (d) 3pPr

77. fa1H:r*~Q;1crHiI ~~ 'cral' ~~ q;r ~414cuifl o:rtr ~
(a) 3iklH31 (b) (""R\ (c) ~ (d) ~rm1T

78. 'CR: ~~ q;r ~ ('(IIH ~ ~:,:)

(a) ~ (b) ~

79. ~'~~ q;r ~('(IIH ~ ~:

(a) ~ (b) c41QCfl (c) ~@F{ (d) ~f(t(1

fitI:;r ~ I~~ ~ cl; fttq ,~ ~ ~q; ("'q1#~ 3fl«r ~TiGem q'ifT(f q;l~ ,:)

80. ~ ~ aT(iIT.

(a) ~ (b) fiiRi(1

81. ~ ~T ~ ~ ~T * 'H11H10i 3mIT.

(a) ~~(1 (b) ~MI(1

82. ~ trfm aT ~ ~

(a) ,j~t(1 (b) filo{lCfllo{ (c)3f~ (d) ~

~ CfTCRf~ cl; fttq ~~ cl; ~k1~mcl ~riGl/. ~ em qG1c~qfl:t"(T q;ll ~q;("'q1 #~ ,:)

~ ~ ~ 31G1SfiJ1 q;r 'iI7r.f ~I,:)

83. al(4Rilill pl ,3-TqO"ft/ ~1Cfl)- mma:rr
.:J

ABC 0
(a) BADC (b) ABCD (c) DCBA (d) BACD

84. ~ 3110{(1'>14~ ~I fC1t1~(11 ~1C(11cf;/ qlO{(1IQC\Q;14i'1~Ri3ffi"f 4l\alllll mfr'~Q;lcf; ~ ~/

ABC 0
(a) ABCD (b) BADC (c) ACDB (d) DCAB

85. (a) $Cfl(>ll(11 (b) QCfl('(l(11 (c) $Cfl(>{1(11

86. (a) ~ (b) ~~ (c) ~Rr~T(1".:J .:J .:J
ftcfir ~ 3R'it cl; fttq 3q II Cfcl ~ q; ("'q q;f:

.:J .:J

87. ~fm"~ ~ 'CfI('IT

(a) ~ (b) cUill(4·

88. .~ 4ll" ~ * ~ ta1T

(a) 3i("41~10{ (b) 3ifCh~CT1

(c) (d)

(c) (d)

(c)
<Q41C(1(d)

(d) QCfl(>l)(11

(d) f;r(1~c
. .:J

(c) (d)

(c) (d)
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faiFo:r"Jt ~ Cf11'TFHI~~ '3-l'J1'(1'cnrq4illClIif1 ant~?c,

(a) ~ . (b) 3-fcFft" (c) 3-Tf;R<:r

faiFo:r"Jt ~ Cf11o=ttll~~ '~' cnr q4tllClI-q~ ~~?

(a) '1fclT (b) iR'aT (c) WTiq)
(. ~ (.

~ q:;-u; ~. CTl(>IT
~

(a) tla :illai~ (b) 'tJChr . (c) tla£l'>C:1

~ ~Ti4~ ft:lvmfi fa 4;fkll~ ~Ti4(facti (>'4) CfiT ~ "R;l Q :

92. ~
(a) Q{klo=t (b) mJ1a:r (c) 3icniflo=t

~

fillh1 ft;l ~ (1 ~~ ~ ~ mfi lffit- fa v6;e\ (fa cti(>'4) CfiT ~ "R;l Q :

93. tlv't1~::j

(a)~+~

94. ~
(a) faRr + .mt1R"

89.

90.

91.

(d) arm

(d)~

(d) tRTa1T~

(b) ~+~ (c)~+~ . (d) ~+~

(b) fat: +.mt1R" (c) fat+ 3litm": (d) fuB: +.mt1R"

~~ll uq® '\3qtijf'"ij;"~fcl(f)(Yq q;y~~:

95. tiCf)('F"I

~1h1ft;l~(1 3t1v6;e\ ~ 3fR 'Hqlcl1(~vr 96 ~. 100·aq:i ) CfiT ~ a-I
filthTiffiffil(i ~~r eN ~ qU; ~ g~aIT c);- ft;rcr 3QllCf(""l ruCfl(>'Q ~-

, '" ~ ~
l ~ 3io=tCfl{UI~ft(;r IDUlT ~I 31(1: 3-TR1-qm- c);- ~ ~. 1!Cf tl$'t1{1 ~ ~ (i~,&(il ~I~ ~

fcRfr ~ *'" ~ Cf<rr~, :me);- ~ dTUf Cf<rr~, ~~, 3m:lIl~Cfl 3iR~ (.. ~
"T1Ttll"MTJiI8~~Cfl~ ~ ~, fcR:r ~ "Jt ~ .~ ~, ~ ff~ mill cnr "JITcrt" ~

~ W© ~ ~ ~I fcRfr Ji $1q (lIS( cnr ~ ~. fcl1 ~ fiRiI q;T fJ't:r trcf tl ~C\1I
. ~ ~

~ ~ err ~ tl $ 't1{1 CflT ~ ~ I 3f(1: :me);- ~ cFtcrt- ~, fJ't:r Cf11a:r ~, ~ tr
:mcfiT q~'t1l1 fJ1(>f(1I, ~I {],tiJIQ ~ ~ ql{tlJiM ~ 0IT ~ CflT ~ ~ ~ *'"
WR1T ~ ~ I ~ c);- ~ ~ ~ 3i Rl q Itl c);- (far ~ wi-R«r. ~ ~ ~ I 7.1:]" c);-c, ~ ~~

~ trraft ~ 3W" ~"Jt n1 Cfl(""ll ~ I~ cfiI ~ ~ dTJ=T<1cf LR" ~ <""IT Cf$" (ff8;TUf Pic
\JlIQllft I. ~ .W:mT * ~ ~ ~-q c);- ~ "Jt ~ <""IT Cf$" 3v\JlCl(>fJiM ~I~ tl,ti III

cfiI Ji $,(""1I ~I

~ 3fCraIT ~ ~ ~ ~. {i"t,&(""I1 ~?~ .
(a) ~ ~ (b) ~ ~ (c) ~ c<rcf~ ~

96.

(a)WP (b) ~ (c) "frl\ (d)~
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97. ~ *m mufT 6?.:>

(a) 31Tt\!l1 fc)i Cfl (b)~'

98. fI :H d Iffi q I'{filA fO'I ~ w:rra=r CRIT t?
'':>

(a) Cfmfch ~ tm 3ft .m:rn- ~ 0ffi1T 6.:>

(c) ~ c\!l~Ci :;i1IC1iaICii ~ 6

99. 1A$lq{i\li ~ 'fl"IH'Rf CfiT 3~1$'{OI 6?.:>

(a) ~ 'fl"IH'Rf (b) Ci,q (l\li 'fl"IH'Rf
.:>

(c) ~ 'fl"IH'Rf (d) ~ ~.

100. '~'CfiT CRIT sm 6?
(a) ~ ~/~ arsrr
(c) ~ ~ cm>rr

(c) 3iCliCfl'{OI~fi<>r.:> (d) ~

(b) ~ c>IT6 q:;)- murr ~ ~ 6
(d) ~ c\!l~Ci q:;)- ~ ~ ~ 6c.

















119. Figure 'X' is embedded in anyone' of ~ ~ mr faChC"cfi A, e, C 3lR 0 Jt~
the four alternative figures A, e, C or ~ ~ faCh<"G ~ ~ 'X' ~ ~ ~

D. Find the alternative which contains ~ l:m faChC"Q ~ ~ ~ 'X' ~

figure 'X' as its part. ~ ~ a:mr ~ f3:tfI' ~ ~ I

120.

e C oX A

If ,+, means 'x' , 'x' means '+', '+' ~ ,+, ~ 'x', 'x' ~ '+', '+' ~ '-' 3lR '-'

means '-' and '-' means '+', then what ~ '+', ~ ~, (1GI"~ eft 11<fi" ~Tif

would be the answer of the equation? q;r 3CTR' q:m ~ ?

16 x 3 + 5 - 2 + 4 = ?

(A) 9
(8) 10
(C) 19
(D) None of these

8
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